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1. The key drivers of globalisation are 1. (5%0D85e% S0 @y

(A) Govt. action, privatisation, cost and
competition

(B) Cost advantages, economic cycles
and competition

(C) Market convergence, exchange rates
and demographic factors

(D) Gouvt. policies, cost, market and
competition

. Ministry of Industry constituted
a Public Sector Disinvestment
Commission during the year

(A) 1991
(B) 1993
(C) 1996
(D) 2002

. The Age of Discontinuity is authored
by

(A) Adam Smith

(B) Peter F. Drucker

(C) J. M. Keynes

(D) John Dryden

. Removal of poverty was strongly
emphasised during

(A) Fourth five year plan
(B) Fifth five year plan
(C) Sixth five year plan

)

(D) First five year plan

(A) ©abiss 505, 2edstes, 350500, Sodakn
83

(B) 3505 Edresres, &8 H(E0, HoBAN)
e

(C) 5578)e Do¥Ao, STCETER Ho0aKw
eazséowg 002008 3°0T°en

(D) Be0ss Ao, SEEitres, 5706
508050 SFed

. D0EN00 H00 @B P HELBTON GO

FRgRM0ET EBEDD AT DD ¥0
Srfeld

(A) 1991

(B) 1993
(C) 1996
(D) 2002

. The Age of Discontinuity 5200

o°C0.

(A) eS8
(B) 26 3. 15,6
(C) B.008:.45,
(D) =S @5&5

. S0 BT B8 HoWHG (©PeTPE STRo

& T8, DBdod.

(A) T BouD PeTds

(B) 20655 B0B%¢ (98

(C) 8% 2083¢ ReTdy

(D) B8 D085 ©erds



5. Assertion (A) : Scanning is the
process of analysing the environment
for identifying the factors which have
an impact on the business.

Reasoning (R) : Analysis of

external environment enables a

business to identify its strengths

and weaknesses.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is not true

(D) Both (A) and (R) are false

6. Match the following :

List—1 List—1I
a. MRTP Act i. 1971
b. FERA ii. 1999
c. FEMA jii. 2002
d. Competition Act  iv. 1969
Codes :

a b c d
(A) iv 0 i i
(B) iv i i i
(C) iv i i i
(D) iv i i i

7. Tripple bottom-line accounting is
also called

(A) Historical Accounting
(B) Full Cost Accounting
(C) Incremental Costing
(D) Management Accounting

5. 2389 (A) 1 ool ©erdBo Do
SO0 MBONEIS STGSETY
DF2ED PIEA3 oA,

550 (R) 1 2759700 81 1ren weirdsa
FOBOBEGETIS ergs HOTGH0Es A3
ERDPNHEL00.

gﬁ&a .

(A) (A) 5000 (R) $5768 900050 (R) 6
(A) o 0T 55093200

(B) (A) 50000 (R) 55768 900050 (R) &6
(A) %o 0BT ©:35005eH

(C) (A) 3850 5 (R) widesgo

(D) (A) 580 (R) Bocir eiserd

6. 2BV,

SEE SER |

a. MRTP 5¢0 i. 1971

b. FERA ii. 1999

c. FEMA iii. 2002

d. 2% veyo iv. 1969

§%&, :
a b c¢c d

(A) iv i i i

(B) iv i i i

(C) iv iii i i

(D) iv i i i

7. 39500 BS esF oe3oled
0 E°C° ©90eT°80.

(A) TOEBS S oedoh
(B) 0 55050 es370edoh
(C) goidvotsd s°0h
(D) doegres 93 oedon



8. Cost incurred on recruiting, training
and development of employees is
called

(A) Replacement cost
(B) Historical cost

(C) Opportunity cost
(D) None of the above

9. Ashare of Rs. 20 each was forfeited
for non-payment of final call of
Rs. 10 per share and the same is
re-issued for Rs. 50. The amount to
be credited to the Capital Reserve
A/c will be

(A) Rs. zero
(B) Rs. 40
(C) Rs. 90
(D) Rs. 50

10. For buying controlling interest in
the company, the most appropriate
method for valuation of shares is

(A) Dividend capitalisation method
(B) EPS capitalisation method

(C) Market value approach

(D) None of the above

11. Which of the following formula is
used for computing the profit ?

(A) P/V ratio (x) total sales

(B) P/V ratio (x) B.E.P. sales

(C) P/V ratio (x) Margin of safety
(D) None of the above

12. Production budget is governed by
(A) Flexible budget
(B) Sales budget
(C) Master budget
(D) Material budget

8. &l Aareso, Bges Ho00Ke Wl
2 DOV B0
©90eJ°C0.
(A) 2 585 5000
(B) T0@gE 550500
(C) es557% 5000
(D) 229 5%

9. B&ersH 6. 10 © Bobdewsd) DOoW
$50C30g 6. 20 De0RNe TeTHD 2w
8. 50. 0% SBR &0 WOXHERKOB. BTG

Besting PrEEO Bted DOHHOS HoBo.
(A) &>. 0 (zero)

(B) &>. 40

(C) &. 90

(D) &>. 50

10. 2.5 $00AS® DodoEes esddd Sbof'en
DVOGIE Tero JOOS K)O;@o{ﬁa?’i)é
29508 RIS DS,
(A) EDTo BaTPEISSE DS
(B) EPS 505060558 568
(C) 570, Dosd BES

(D) 229 7%

11, ogreo 8§ 0teed8 300 6" O SrEd)
€20030° N0 ?

(A) PV 358 (X) 2080 exdosteo
(B) P/V %8 (x) B.E.P. esioseen
(C) PNV 33d (x) 558 9590

(D) =57

12. &5y8 23S SrdS
EBOITSED
(A) 56 wged
(B) eskosre axged
(C) 50 eged
(D) 20e36008 exged



13.

14.

15.

Which of the following is a correct
sequence of balancing of an
account ?

(A) Journalising, posting, casting and
balancing

(B) Debiting, crediting, posting and
casting

(C) Crediting, debiting, casting and
posting

(D) None of the above

Match List — A with List— B

List— A List—B
a. Trading on i. Responsibility
equity accounting
b. Degree of ii. Funds flow
operating statement
leverage
c. Change in iii. Financial
working capital leverage
d. Investment iv. Operating
Centre risk
Codes :
a b c d
(A) i i v i
B) i i iii v
(C) iii v i i
(D) iv i i i

Which of the following affect the EPS
of a company ?

1. EBIT

2. Interest obligation

3. Tax Burden

4. No. of shares outstanding

A) 2,3 and 4

B)
)
)

1,2,3and 4

13.

14.

15.

2.8 T Do 0N 5508 od e38°

O DEIES00 B ?

(A) Deresoos A0S, ST, EPEeo
50800 Jeg oS0

(B) 865 Dodcso, BeS D0, SAIES
S08aK0 E7¢Eero

(C) BceS Daxwcso, aded Dodacso, E7esero
5080523 ST WO

(D) P20 5%

e — A S0 erdlee — B & assnoyodt.

- A e — B
a. E3&0h e85 sedpd i, BINLDOS
e oedon
b. es:58e3oh 85028 i Ao (3508
JDEE

00
C. Ased Soregsso il porgand &:562

&° 5775
d. 2epedSowo  iv.
&y

a b c d

es550¢30h B

(A i i v i
B)ii i i v
©) i v i i
(D)

v i
208 738" 08 &5 502 EPS i Berdevo
D308 ?
1. EBIT
2. 3¢ 200 I
3. 9%y ardo
4. 228 DoXore A TeTrew
(A) 2, 3 508a50 4
(B) 1,2 508aw0 3
(C) 1, 3 500050 4
(

)
)
)
D) 1,2, 3 50805 4



16.

17.

18.

19.

Assertion (A) : Expired portion of
revenue expenditure is an expense;
if it expires after providing benefit.

Reasoning (R) : Unexpired portion
of revenue expenditure is a current
asset.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are incorrect
(C)
)

(D) (A) is incorrect but (R) is correct

(A) is correct but (R) is not correct

“Invisible hand principle” is related
to

(A) Command economy
(B)
(C)

)

(D) Traditional economy

Market economy

Mixed economy

These costs are zero when output
is zero

(A) Total variable costs

(B) Total fixed costs

(C) Average fixed costs
)

(D) Total average costs

Which of the following is a
differentiated product ?

(A) A hamburger
(B) A shirt

(C) An automobile
(D) All the above

16.

17.

18.

19.

ARED (A) © PADTEsF0 00N BSOS

o°2)Cs ;350&)068 sre0 DOS grito.

6220 (R) @ oraxds b?soi?e');s 5700 DY

N0 (DR €.

gsgo‘a .

(A) (A) 550050 (R) Botir o

(B) (A) 558050 (R) Sodir e

(C) (A) 5r@30 v850 52 (R) sr@o
@é@éo

(D) (A) s>@do wvs0 520 (R) srwo
ééego

“eiSyds TR STB0” B3 Howofodod ?

(A) esQ8g e0s 5559

(B) 573 e 0¥ 5553

(C) oo 08 5593

(D) roEmros &gy 5g5

S8 BT BEF550259E S08
55055[’03 7 Q050 D00°00

(A) Dasiso B Syarre

(B) D080 8 H50007eo

(C) e 3 Syareo

(D) 22080 e 9505700

300 3" D0 Poros 39 ?
(A) sFosb



20.

21.

22.

Which one of the following is not

an assumption of break-even

analysis ?

(A) Elements of cost cannot be divided
into different groups

(B) Fixed cost remains constant from
zero production to full capacity

(C) Behaviour of different costs is
linear

(D) Selling price remains constant

The need for study of Economics
arises because of

a. Scarce resources having alternative
uses.

b. Human wants are unlimited but
means are limited.

c. Increase in the per-capita income of
people.

d. The growth of economy at about
7%.

Codes :
(A) aandc (B) candd
(C) aand b (D) bonly
Match the following :
List -1 List -1l
a. Jointdemand i. Beaf and Hide
b. Joint supply ii. Pepsiand
coco-cola
c. Derived iii. Tea and sugar
demand
d. Competitive iv. Computer
demand operator
Codes :
a b c d
(A) i 0 v
(B) iv i i i
(C) i i i v
(D) iii ivoi i

20.

21.

22.

800 TeIE° DO orey 5P S8 AFSen
(00 5°¢55 ?

(A) Sgairozres AV STrear EHAX
B350

(B) o 5006 377G e oo H65 15
5007700 JBYVOTT® G0eT"00)

(C) 225 B5aire B8 dovddororr
606008

(D) 59,50 &8 Jgyoom &ood

SYETY o000 WHHSO 8 oS

5:3008.

a. RT7H TNV &DATTFT oI VOIS
;6?663@59.

b. 3755 §3)00 ©HdWo 52 eI
BT BrTres $BBO.

C. 50 BN emranod” EHEE.
d. 7% 1 50y 505 5.
@ @

&, :
(A) abaxoce (B) € 508k d
(C) asvboxo b (D) b 3@
808 773 eBIT) 0.
e — | e — I
a. B GBI i D9 Sodakw &
b. ¥ Rew0° i, 200 080
§°s8%r
C. D58y &xroc il eI HoBoo
Iletninye]
d. 2 dsrocs v, oy
e350e06
&, :
a b c d
(A) i i v i
(B) iv i i i
(C)ii i i v
(D) iii ivoi i



23.

24,

25.

Assertion (A) : When the demand
is elastic and prices decrease, it
will result in increase in quantity
demanded and increase in total
revenue.

Reasoning (R) : With the reduction
in price, comfort and luxury goods
attract more number of customers
which results in increase in quantity
demanded and total revenue.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) Both (A) and (R) are false

Depreciation is entered in
voucher in Tally.

Following is used to see all the

sellings and buying transactions
(A) Display
(B) Masters
(C) Day book
)

(D) Trial balance

23.

24,

25.

s (A) : Groc TE 0D Hodoko
56 SRS, & Dy Ao DEHEEL
500010 HBO SO0 DEOEK T8
8008,

soeae (R) @ 568" e @b FEs
20N ATT HADY IVAFNTY DD
58008 By Aord $oBoKw Doogo
SO0 WEHEOK TBB008.

S

(A) (A) 000> (R) Tocir 0o%d Sodai (R)
&0 (A) o B0 ADBH8

(B) (A) 5080k (R) Socr dod 570 (R)
&0 (A) Bo B0 ADBCBES

(C) (A) 5B 3850 570 (R) edgo

(D) (A) 598030 (R) o esord

Tally Qoo Ko __
BB SATE> Do,

(A) F4
(B) F6
(C) F7
(D) F9

50500 500010 FHoR'Y T dIes
B506% (§08 TR EIATAT.

(A) &3

(B) 5%6,
(C) Cens

(D) @6 POy



26.

27.

28.

The following ledgers are created in
Tally by default

a. Cash Account

b. Capital Account

c. Profit and Loss Account
d. Depreciation Account
(A) aand b

(B) aandc

(C) bandc

(D) a,b,candd

~— N S e

Assertion (A) : ‘X’ is a reliable
estimate of ‘W’

Reasoning (R) : Expected (X) is ‘.
Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which of the following pairs of null
and alternative hypothesis are true
in the correct form ?

-u=0
—u=0

><| ><|

o
Vv
T T

Xl x|

o
Il
Xl x|
N
T =

jiry

.E.

I T I T I T I I
I
X
!
x|
N
[
x
!
=
N

Il
X
|
Xl
N
H
x
|
-
N

(A) i, ii and iii

(B) iandiionly

(C) iandiv only
)

(D) i, iii and iv

26.

27.

28.

TaIIy oy &g Srdone (by default)
52 C0d groren (ogaxooseo&?éi)

a. SR e

b. So5resd grae
C. U"e;f:éig@ PoT°
d. 8&M&e groe
A) a 50000 b

)

B) a 508ai» ¢
)
) a, b, ¢ 06w d

DX G008, 980yEER0

U0 (R) @ ‘W 55058 5802 (X)

&

(A) (A) 50805 (R) Boco 5003300

(B) (A) 20805 (R) Do&Er 880300 579
(C) (A) 3863058, 522 (R) H85°¢H

(D) (A) 2857, 520 (R) 20603056

~— N S N
.~~~ o~

2od %5%5 500050 ETEEIHEW BSO8R
25" DO 50 ?

. Hp=X—-p=0
Hi=x-p=0

ii. Hy=X=n
Hi=X>p

jii. Hy=X=p
H =X<p

iv. Ho =X{ =X =y —pp
Hy =X, =X, # g —

(A) i, i 080Xy iii

(B) i S08axw i S0

(C) i $o80% iV S0

(D) ii, iii 20800 iv



29. Match the following :

List -1 List—1I
a. Drop cap i. Mailing list
b. Data source ii. Begin
paragraph with
capital letter
c. Spelling tool iii. Standard
toolbar
d. Landscape iv. Superscript
v. Page
orientation
Codes :
a b c d
(A) iv i i i
B) i i i v
C)v iv i i
(D) i i v

30-31 : A bolt manufacturing factory, A,
B and C plants manufacture 60%, 25%
and 15% bolts respectively. Of the total of
their output 1%, 2% and 1% are defective
bolts from each plant respectively. A bolt is
drawn at random from the total production
and found to be defective.

30. What is the probability that the
defective bolt is manufactured by

plant A ?
12 10
A 15 B) 25
3
©) 5= (D) 25

31. What is the probability that the
defective bolt is manufactured by

plant B ?
12 10
(A) 32 (B) 2g
3
© 9 (D) 5

29. 208 T3 23BBB0R -

ISER ISR
a. @& sP i. 2080h Y
b. Terrdy ii. orEreRse
3“523636
BEIE Joosen
?oéaegéa
C. poh e iii. rocsh eord erd
d. @“505—2 RS iv. w&é@bg
V. 8 80000835
S
a b c d
(A) iv i i i
|B) i i i v
C)v iv i i
(D) i i i v

30-31 : 2% Fepen e T2 SoyTEHE
A, B 558050 C @52 0Xo[@mdEanoes (0500
60%, 25% 500050 15% efogode a8y
D00, T3 o), B B0 1%, 2%
500050 1% &HE0PoadgHun™ . ooEH0
&SE AETomr Saads e &'ey
&HEr00R S0R"0E00.

30. A oo o Sarrdo B oy
S HEPO0REMT 06 DogTHgs D ?

(A 12 ®) 19
© 2 0 5

31. B abo@mson Hasrs Daneds e
S BIPOVRBONT &I 30805

Do ?
1 10
(A) 12 (B) 22
(C) 9 (D) =
o5 25



32. The responsibility for direction 32. g;é:g;@ PGS (T IO
primarily lies with 063308 9
(A) Top management (A) @;w DOGTE0
(B) Middle level management (B) mq@;w DTG
(C) Board of directors (C) ZBE $006:d
(D) First line managers (D) 6553 85 Ioogrsoen
33. !:irst managgment thinker who 33. S°05 o¥08 WOPIL 5,558 e 58
!ntroduced. piece .rate system to 52635 Baased B0 JosTer THEHS,
improve efficiency is _ ‘g - 5\/ -
(A) Halsey (B) Rowan (A) & (B) &=
(C) Taylor (D) Robert Owen (C) &6 (D) oaf &S
34. Which one of the following statements 34. 206 msgsef D8 0850 7
is false ?
A) 0880 JoosreS’ arim 570 @0
(A) Leadership is a part of management (A) ToisBs0 Jogred eriso s e
but not all of it "GN S0
(B) Leadership is the process of getting (B) ;553/2@3 X580 3550 THO" B 03003
things done through and with the _
people RI8S3 TraXEs0
(C) People become leaders by birth (C) S55e0 @aggé% TONEOHTE
(D) Leadership is an interpersonal (D) D05 500 B0 ESATACS SFSS
process exercised by the leader on _ fe’v ® _ -
the followers in a given situation Q02008 BIE TraxbsEso
35. Which of the following functions of 35. 200 AT5Tren DS DB ATGTEd o
management is referred to as the B0 ?
essence of management ? .
(A) Planning (B) Organising (A) er9ssves (B) 59g50es
(C) Co-ordinating (D) Controlling (C) J3o5005°88e (D) oxosse
36. Which of the following is/are not a 36. $00 T3S D ITTE PEADS” egod
barrier of communication ? 9 ?
a. Unclarified assumptions a. @@é\@fpdﬁ"m
b. Open mind b. &3 2ok
c. Loss by transmission C. BRFS $02e3’ %0
d. Clarify of thought d. 8w s
Codes : §%&, :
(A) aandb (B) bandc (A) a 50050 b (B) b 5008050 ©
(C) band d (D) aandc (C) b 58a50 d (D) a odavn ¢




37. Match the following 37. 200 T3 eBHSH0S.
List—1 List -1l e — | et — I
a. F. W. Taylor i. Behavioural
approach a. F. W. &b i ©5go S0°go
b. Henry Fayol ii. Human relations b. Zrhard Il 50709 Somogren
c. Elton Mayo iii. Administrative C. 0385330350 iii. 20Ireme ?oq;oéo
theory d. wEFosFP  iv. Thob Jogre
d. Abraham iv. Scientific
Maslow management S
Codes : a b c d
a b c d A i i v i
(A)ii i v i (B) iv i Qi
(B) iv i Qi i (C)iii v i i
(C) i iv i i (D) iv i i i
(D) v i i 38. 20¢5 3% PeTPEsEESD C5esd KB
38. Arrange the following steps of §5008” g0k
planning in a proper sequence : i, ESaoarre SO A
i. Developing premises i, TR0 7T S8
ii. Evaluating alternative courses iii. eSstEre K80
iii. Being aware of opportunities V. (BTrgsomnod JodE
iv. Selecting a course V. Doie QoPye
v. Establishing objectives (A i i v v i
(A) i i ivoove B)i i i v v
(B) i i i vooiv ©C)ii v i i v
C)ii v i Qi v D)ii i v iv i
O)ii i v iv i




39.

40.

41.

Assertion (A) : Robert Owen is
known as the father of modern
personnel management.

Reasoning (R) : He conducted time
and motion studies at Hawthorne
works of western electric company.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) Both (A) and (R) are false

(D) (A) is true but (R) is false

Early adopters and innovators are

thought to operate as
(A) Opinion leaders
(B) Social leaders

(C) Market leaders
)

(D) Segmentation leaders

AIDA stands for

(A) Attention — Imitation — Dependence
— Admiration

(B) Attention — Interest — Desire —
Action

(C) Action — Intention— Desire —
Attrition

(D) Attraction — Imitation — Deployment

— Action

39.

40.

41.

AR RO A
S (A) 1 e60dE 2enod AT GTE

Tm20§ 2585550 HoGTT QoW L.

s25e30 (R) 1 3820 S dogsd

E00S* by i);oéooefs 5P 50000

&3O 550000 D,

S

(A) (A) 58055 (R) Botar ¥orges 5080
(R) &8 (A) &5 007y 55000900

(B) (A) 55805 (R) Sotir dzrged s (R)
&0 (A) So SO 3080He

(C) (A) 5000 (R) Botir wmgd

(D) (A) s S50 570 (R) e

F S855000 S00a¥0 S50 e
S8 TN Deeren WHT D

(A) @S0 Takgoes

)
(B) F57e% Trakoed
)

)

(C) 55703 TaHEH00
(D) polsses TahSes

AIDA 55058 B3 8508

(A) TN — 80558 — s — (5%
(B) 5 — esidd — §%08 — §a

(C) o — &ddo — 508 — e

(D) es5ges — esdostes — Jodog — Ead



42. According to needs hierarchy theory, 42. 9530°0 @QEITEND DTPodHo (H3SC0

the following needs are arranged in B0 BIBRED GIVoORS I8 T
the descending order as follows : 55008”3086 DM SRS :
I giese easdTren

i. Safety needs

i. Self actualization needs i, 50000 axbErdstes esvores

iii. Physiological needs lii. 208 oSdoey

iv. Esteem needs V. 350 eSdoren

v. Social needs. V. ool e9dd0een.
(A) v i iv i i (A)y v i ivoi i
B)ii v v i i B)ii v v i i
(C)yi i i v v C)yi i dioivoov
D)ii i v iv i (Dyii i v v i
43. Assertion (A) : Services marketing 43. 9583 (A) @ Do 57 62:9305 DO

50630 (R) : 708 Sre 308 soraied”

is different from goods marketing.
Reasoning (R) : Services contribute

) (A) 5258, 520 (R) 5058 5760
) (A) 5350 57¢%, 520 (R) 5058

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

60% of Indian GDP. 50 60% woliigob.
Codes : &, :
(A) Both (A) and (R) are true and (R) is (A) (A) 308000 (R) Docs® 580300 Bo8aw
the correct explanation of (A) (R), (A) c3008); $3% 55ea
(B) Both (A) and (R) are true but (R) is (B) (A) 50805 (R) Socr 50603009, 572 (R)
not the correct explain of (A) , (A) € B0A3% A5TEs"es>
(C) (A) is true but (R) is false (C) (A) 5256, 570 (R) witond 9057
(D) (A) is false but (R) is true (D) (A) 5258 5%, 570 (R) 5320
44. Assertion (A): CRMisto make focus 44, 5050 (A) : e 55000 JoBegE e
on retaining existing customers. CRM &0, oFgs0.
Reasoning (R) : Attracting new oesR0 (R) 1 ey 950850
customer is costlier than retaining i)eaéoogszscso SV [§°é§ §@Z§o€5?§o
the existing customer. e£§®o{5a§o Ter pENS wcsag"@&
Codes : &, :
(A) Both (A) and (R) are correct and (R) (A) (A) 508050 (R) Docir 586359 5000
is the correct explanation of (A) (R), (A) c3o8), S5O0 2908
(B) Both (A) and (R) are correct, but (R) (B) (A) S080x» (R) Bocr 880300, 50
is not the correct explanation of (A) (R), (A) G3o08), 506D 9GS0
(
(

(C
(D




45. Match the type of customers with 45. 29z — | O erde — || & e2ddSEo500.
their characteristics :

e — | e — I
List -1 List-1l a. %306 i, esosrdBies
a. Laggards i. Skeptical b. §9 5w i, e
b. Early birds ii. Opinion oKD
leaders C. TP 05D i, &5
c. Late iii. Deliberate d. 55 sy V. FroBoross
majority V.
d. Innovators iv. Traditional
gsé(a .
v. Venturesome a b c d
Codes : (A) i i v i
a b c d L
A i i v i (B) iii v i i
B) i v i i C) i i i v
(C) i i il v D) iv i i v
(D) iv i i v

46-47 : ABC 92083 & e doson ¢5°80
3T E0, eSFEITe S0 QDOC ST
$000500 V9T STE0 D0 IVCITNTEOE

46-47 : ABC Ltd., wants to promote its
products primarily to wholesalers, the
wholesalers to retailers and retailers to

consumers. ProB ot 0d.

One the other hand, it wants to initiate 308 ¥, BTG AoS 2oBE0S ShNa
aggressive sales promotion and frequent DRSO DO BB D00k HLLBIT (B0
advertising to build up consumer demand. Bonedod. B2 TG0 59 Kond BB
It thinks that the strategy would motivate DB, DS SEHOD B0, Dud B

consumers to ask retailers for the products,
the retailers will ask the wholesalers who
inturn ask ABC Ltd., for the product.

5750 STH0080 300a¥0 575 HTEo000 Fowd
T PAP0B.

46. D206 0ocsed FrgItd) I0oerSd> ?

46. What is the first strategy called ?
(A) es505 grgso

(A) Pull strategy

B) 08w “3°0
(B) Push strategy B) 2 2
(C) 505 5000w $HOE ey Prgro
(C) Pull and push strategy >
_ (D) 202 Bodan HBEF e Hrgio
(D) Pick and push strategy




47.

48.

49.

50.

51.

Identify the strategy followed by ABC
Ltd :

(A) Push strategy

(B) Pick and pick strategy
(C) Pull and pull strategy
(D) Pull strategy

Given the nominal rate of discount at
12% and the rate of inflation at 5%,
the real rate of discount will be

(A) 17% (B) 7%
(C) 6.7% (D) 7.6%

Gordon dividend model is based
on

(A) Constant growth rate in dividend
(B) Increasing growth rate in dividend
(C) Decreasing growth rate in dividend
(D) None of the above

The reciprocal of P/E ratio is called
(A) Overall cost of capital (K )

(B) Cost of debt (K))

(C) Cost of Equity (K,)

(D) Cost of retained earnings (K)

In which order the following variables
are to be considered while arriving
atEVA?

Variables :

i. EBDIT

ii. Interest on debt (1)

iii. Depreciation (D)

iv. Taxes (T)

v. Cost of equity (K )
(A) EBDIT-1-T-D-K|,
(B) EBDIT-T-1-D-K,
(C) EBDIT-D-T-1-K
(D)

e

D) EBDIT-D-1-T-K,

47.

48.

49.

50.

51.

ABC 9d20G3& 085000008 377530
rO8oWOG.

(A) DOEey Jrgro

(B) Q00 50800 JoE {Jegiro

(C) 555 5005 &8 S0

(D) 555 Hygo

TEHORTG I 0e] Bew 12% Hodakn
GTges B 5%, woadE Jaidod
G065 e
(A) 17%
(C) 6.7%

(B) 7%
(D) 7.6%

TES BOTBS GATo& 5305 B
eSPERGO8.

(A) GdToc Bend’ 8 eI

(B) &dTock Bend® 26y edHi
(C) &0k Bend” Brpmady ednd
(D) 232 579

56, &g AJHY G0, DTN

2 B00eTSD.

(A) Doogo BoreEso Bsoo (K))
(B) exoeaoy gam0 (K)

(C) 5e&sed Sorogssop sgamo (K)
(D) DOR0bedsd egsey Ssako (K)

EVA dg:6638° &5030Rod Heordo
&S00 ?

LT :
i. EBDIT

i, e0ea0 5¢ (1)

iii. $cr0Ge (D)

iv. SSoes (T)

V. Badged Saredisop Ssoo (K
EBDIT-I-T-D-K,
EBDIT-T-1-D-K,
EBDIT-D-T-1-K

e

EBDIT-D-1-T-K,



52.

53.

54.

Terminal value of a project is affected
by

i. Project life

ii. Growth rate

iii. Initial outlay

iv. Incremental cash inflows or outflows
(A) i, iiandiv (B) i, iii and iv
(C) i, iii and iv (D) i, ii, and iii

Which of the following statements is/are
correct ?
i. As per Nl approach, optimum capital
structure means 100% debt capital.
ii. Every (or any) Debt-equity mix is an
optimum mix.
iii. Tax-free zone company enjoys the
benefit of Interest tax shield.
iv. Interest tax shield is the side effect
of mixing debt with equity.

(A) iandiionly
(B) iii and iv only
(C) i, ii and iii
(D) i, iiand iv

Assertion (A) : The more the duration
of the gross operating cycle, the more
the amount of gross working capital
requirement and vice-versa.

Reasoning (R) : The duration of the
gross operating cycle is independent of
the credit period granted by the supplier
and therefore, the gross working capital
remains unaffected.

Codes :

(A) (A) is correct and (R) is not correct
(B) (A)is incorrect and (R) is correct
(C) Both (A) and (R) are correct

(D) Both (A) and (R) are incorrect

52.

53.

54.

25 o), ©odKs Do BIHY EHerdHo
558008,

i OB SoNgR

ii. 090 Ben

ii. @roosy vened

iv. 203 §008 Sor Deonds EHrod D

B 90

(A) i, i o800 v (B) i, iii S08ax iv
(D) i, ii So8cxss iii

5+ 8od JIEHE” 2O BOGRB ?
i. NI 9750 (55750, eoReiod Horedss
Q0 e 100% exoeao
i, 58 (Boe HA) evoer—5edsed oEsoo
o0 QoFH0
ii. 5559 82 Soocseos™D oW HEP SHRISD
B3T3 F03rB008
V. 57 B0 5950 woeso Sedped oo
QXOXENE (DTN 600

(A) i 508a%0 i S0
(B) i $080%0 iv S0
(C) i, ii 0800 iii

(D) i, ii o8B0 iv

BR0g0 (A) : Bro eBtedoh HE 5o 5590
DEN,H0205 §'0b D BT JoFETE
BTG50 JBGLOTT SBHEHOHBO.

so5e20 (R) 1 550306 95050800 $658 s 0os’
QG0 B0 ST eibedoh HiEgseo G0t
;39, E()g@ QTGETED OTPOEGI0 (8T°AH0 T°¢.

&y

(A) (A) 885 508050 (R) exso
(B) (A) &850 S080x» (R) 8850
(C) (A) 200ai» (R) 8850

(D) (A) 208k (R) &80



55. Match the List — A with the List— B :

List— A List—-B
a. Zero-coupon i. Cost of equity
Bond
b. CAPM model ii. Cost of retained
earnings
c. Opportunity cost iii. Nominal cost
of capital of capital
d. Real cost of iv. Initial outflow
capital and terminal
inflow
Codes :
a b c d
(A) iv [ i il
(B) i i i v
(C) iv [ i
(D) i [ iv il

56. Which intervention method listed below
is the most definitive of all third party
interventions ?

(A) Fact finding
(B) Mediation
(€)

(D)

Binding arbitration
Interest arbitration

57. Acts of misconduct that cause very little
harm but if neglected can accumulate
and result in serious problems for the
organisation.

(A) Minor infractions
(B) Major infractions
(C)
)

(D) Serious misconduct

Intolerable offences

B5. 23835906

56.

57.

List— A List- B
a. w5 aroch . Be &edp B50%00
b. CAPM ot . 2% eioiseds
557 $50000

C. JTOEH0R &9 il. SaTredsdop

bgomo TR0 D0 ;5501>o
d. Sooregso iv. @“’60251)@823&
TR 5950900 000X oI
(Q°T°0
&y
a b c d
(A) iv [ i i
B) i i i v
C) iv [ i
(D) i [ iv i

BT I SorDHE e HGBeE $00 9
BGY T A0Fod ?

(A) Qe Joroes

(B) so¢550850

(C) 8201088 Bog3g50%s50

(D) 518 Mo 063550850

308 E5a0ERE" 508 ed HEND
TEEER0eIS, AT 50 $a7°Y DoDBB0w
ERIEES H503gT D0EAR00.

(A) 52 epossen

(B) 276 Q0T
(C)

(D) & coTsEHves

DeTONT) B0



58.

59.

60.

Sending your employees to work on
projects of another company while they
continue to be on your rolls is called

(A) Work sharing
(B)
)
)

Retrenchment
(C) Benching
(D) Loaning

Assertion (A) : When people working
in the company are valuable, rare and
difficult to imitate, they can be a source
of competitive advantage.

Reasoning (R) : People are a source
of competitive advantage when their
skills, knowledge and abilities are
easily available to competitors.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) Both (A) and (R) are false

An interview during the course of
which several interviewers take turns in
interviewing the candidate is called

(A)
(B)
(C)

)

(D) Group interview

Structured interview
Unstructured interview

Panel interview

58.

59.

60.

5020 Seaths 9638° THI OB o 3B
5o @rRRs” SABANERE el ok

Zao?ooiﬁcsf’i)& 9050,

(A) 59 Bowosisco
(B) 63520065
(©)

(D) exsosp@sscso

Bodoh

QR (A) : DS, SR 500K eSoESEe
T30 5 é&séfbew oS’ &063, T o0
SBed K (HBTES SoFTOHTD.

s0er0 (R) : Bidesgo $8egi0 5000
0850 Mo Behed PeSaresnd

RowEorT ogiod Tt e sy
BB BaTTOHTED.

&y

(A) (A) 500050 (R) 50 H00050 (R) &b
A) 5o Do 5530853200

(B) (A) 50000(R) 550 58035 (R) €50

(

(

(

(A) o 0m Sogoiieso Beso

(C) (A) D& 522 (R) &B50

(D) (A) 308030 (R) Socsr esdeggo

30057 PES” 28 w0 G H5Eeo

2.50 BT 2.5 0ebTg DY T
9080,

(A) BB Roebrages
(B)
(€)
(D) S50 gotadymges

©ABBON 0esbIged



61.

62.

63.

Which of the following are off-the-job
training methods ?

a. Lecturing
b. Apprenticeship
c. In basket training

d. Seminars
Codes :
(A) aand b (B) band d
(C) cand d (D) aandd

Assertion (A) : The use of information
technology and internet by employees
has raised concerns regarding the
privacy of employee work activities.

Reasoning (R) : Information technology
offers current and accurate data for the
purposes of control and decision making.

Codes :

(A) Both (A) and (R) are correct but (R)
is not the correct explanation of (A)

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

Assertion (A) : Role playing is a technique
that requires the trainee to assume
different identities to learn how others
feel under different circumstances.
Reasoning (R) : This is an opportunity for
the participants to provide their ideas on
a stated problem during a freewheeling
group discussion.

Codes :

(A) (A)is true but (R) is false

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

61. 200 VS D 3& ErTon 35 BB
30&8 o ?

a. &G0
b. eoedodw
C. 30 25 Bgen

d. 2T
S
(A) a50daxob (B) b xo8axnd
(C) cSodaxnd (D) a 500aind

62. 050 (A) @ D5°TE TOEBY eFivo B0k

@oé@’@o EOATA0W GO ;§e> é&s OO DI

gocség@ooa g SHIABRD.

se0 (R) 1 I57T°¢ ToSAY erSo
EIATAOVEO 9 AAVOBEY 520050
QYT ETEIED THONS PANBD o000
@mé CSBOB0 BOETRATEIBOOD.

&y

(A) (A) 508a%> (R) Bocr B850 520 (R)
&0 (A) S0 SO H5000HEoBE

(B) (A) 50805 (R) e;s(oe‘éeso

(C) (A) 3850 5 (R) widesgo

(D) (R) 350 5= (A) exssso

63. T3 (A) 1 BT DSSE” Dy DoTNE
DA B0 grEtes ApEHco §o B
DG ErFrE” Eaironof T,
oo (R) : G 99 esogps B BHarde B
Sosgyor Y T 9810 BHoKgp T
DPPATO8) B WS HO &od.
&y

(A) (A) do50 52 (R) @3B0

(B) (A) 08050 (R) Bocir essereo

(C) (A) so80m (R) Bocsr seed 0ao (R)
&R0 (A) 5 D0 95003200

(D) (A) $08a%> (R) Bowr ¥o7d 520 (R)
&R0 (A) 5 D0 $50QoHed



64.

65.

Match the following :
List -1
(Methods of wage
payment)

e o oo

Plans
Codes :

a b c d
) i i iv il
) iv i i [
) v i [ ii
) i v i [
Match the following :

List -1

a. Intelligence tests .

b. Aptitude tests ii.

c. Personality tests iii.

d. Achievement iv.
tests
Codes :
a b c d
(A) iv il [ ii
(B) ii [ iv i
(C) iv ii [ iii
(D) i v ii i

Time wage I
Piece wage i.
Balance wage ii.
Incentive wage iv.

List -1l
(Base)

Bonus
Minimum wage
Production
Hours

List - 1I
Measures

basic human
nature

Measure
the current
proficiency
Measure an
individual’s
potential to
learn certain
skills

Measure
mental ability

64.

65.

23@%630& :

N — |

(R85 DY BB )

ORIV

e o o o

DY
%)

)
) v i
) iv i
) i v
2BS50E
List -1
a. & $8Feo

252203 DBBO
D080 8BS0
RFTyoE DB

b. 95 $0geo

C. 5385 200

d. 52558 905w

V.

o -l

(esTeen)
EARNIS
ESDBB0
)9

S°00

List -l
Q0D D3°DE
Q58T
Seodg0d

L SR (55355

Seodg0d
f)(i)&?f)

31253%"53&
Seodg0d

. SRRE

S}
§e08308



66.

67.

68.

69.

In order to control credit.

(A) CRR should be increased and bank
rate should be decreased

(B) CRR should be decreased and bank
rate should be decreased

(C) CRR should be increased and bank
rate should be increased

(D) CRR should be decreased and bank
rate should be increased

‘Repo Rate’ refers to the rate at which

(A) RBI borrows short term money from
the market

(B) Banks keep the money with RBI
(C) Bills are discounted by RBI
(D) Forex is purchased by RBI

The concept of mutual funds was started
with unit schemes of Unit Trust of India
during

(A) 1964
(B) 1974
(C) 1984
(D) 1994

Which bank took over the entire
undertaking of the ARDC ?

(A) RBI
(B) NABARD
(C) SBI

(D) SEBI

66.

67.

68.

69.

2698 Ja¥oes §550.

(A) CRR o 200 $:0050 2o Beaid
éf\\oﬁﬁé&o

(B) CRR &0 3000500 ergosd B 0080
BRoWeIo
n

(C) CRR &> 50000 27508 Beanido oo

(D) CRR & ®foiheso 5000 argos St
[Slelnichle}

DI ST D Bead SIS

(A) 557065 5000 RBI essyore Zrocso Sgenyseds
(G550

(B) RBI &S ergoen g0t (5550

(C) RBI 3% G005 Doecis Heges

(D) RBI 2% §eco 208 S5 (5950

QTS (€3] & godalr T8 e o
e Borr5iaosd 50k e G50 oo
QoJBBo

(A) 1964
(B) 1974

(C) 1984

(D) 1994

ARDC es5i50 2059:5 SrosHigy el 26 ?
(A) RBI

(B) NABARD
(C) SBI

(D) SEBI



70.

71.

72.

Match the following :
Bank
a. New Bank of

Merged with
i. Punjab National

India Bank

b. Bank of i. HDFC Bank
Madhura

c. Times Bank iii. Oriental Bank

d. Global Trust iv. ICICI Bank
Bank

Codes :
a b c d

(A) i iii i v

(B) i iv i il

(C) iii [ iv

(D) iv [ i

Which of the following is not a form of
Foreign Direct Investment ?

(A) Purchase of existing assets in a
foreign country

(B) Purchase of foreign currency
convertible bonds

(C) Participation in a joint venture with a
foreign firm

(D) Transfer of human resources for
equity in foreign companies

The rate at which demand for the foreign
exchange and the supply of foreign
exchange are equal, is called

(A) Exchange rate
(B)
(€)
(D) The BoP exchange rate

Payment rate
The equilibrium exchange rate

70.

71.

72.

23EON0G
PO & 28sase

a. SrereHed S0z DRSS
R0GQX ergo8

b. er8 &% ii. HDFC ero5
INSInble]

C. 3y ergos ii. 2.80m0e08 ergob

d. ffa)ef@aé 20§ iv. ICICI erg08

S
a b ¢ d

A) i i 0 v

®) i v i i

©) i i v i

©) v i i i

5+ 300 T35, D eodo DO ESBELNEN0

$0220H0VIE 3¢50 ?

(A) DTS’ &t ety S
(B) 203 50 58y erocto §5e0

(C) B8 50208’ ettt TR0’ F&seso
(D) 203 302957 Sedsed3 BITHH SHSHB

23¢3eP000WE0

D B ¢SS VBB JTEE (5395900 Do),
G008 B0 BP0 DITBOT 0o,

550
BoP 55580 Be

QRN 90T,
(A) $0°550 Bex
(B) 280 e
(C) 05 SCE0 Bew
)

(D



73.

74.

75.

76.

BRICS includes

(A) Bhutan, Romania, Indonesia, Chile
and South Korea

(B) Brazil, Russia, Indonesia, Chile and
Sudan

(C) Brazil, Russia, India, China and
South Africa

(D) Britain, Russia, India, Chile and
Sri Lanka

Which of the following is the Central
Institution of the International Monetary
System ?

(A) Asian Development Bank

(B)
(C) Bank of International Settlements
(D) World Trade Organization

International Monetary Fund

When the Balance of Payments shows
either a surplus or a deficit, it is called

(A) Cyclical disequilibrium
(B) BoP disequilibrium
(C)
)

(D) Development disequilibrium

Structural disequilibrium

Which of the following is included in current
account of Balance of Payment ?

(A) International capital transfers
(B)
(C)

)

(D) Long term financial transactions

Foreign debts

Commodity imports and exports
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77.

78.

79.

Unilateral payment received from abroad
are considered as

(A) Debits of capital account of balance
of payment

(B) Credits of current account of Balance
of payment

(C) Credits of unilateral transfers
account

(D) Debits of current account

Arrange the following Regional Trade
Blocs in sequence as per the year in
which they came into being :

1. EEC

2. NAFTA

3. ASEAN

4. SAARC

Codes :

(A) 4,1,3,2
B) 1,3,2,4
(C) 2,3,1,4
(D) 1,4,83,2

Arrange the following stages of evolution
of companies in internationalisation of
their business.

1. Multinational company
2. Domestic company
International company
Transnational company
Global company

oM w

Codes :

(A) 2,3,1,5,4
B) 2,3,1,4,5
©) 2,1,3,4,5
(D) 4,2,1,3,5
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1. EEC
2. NAFTA
3. ASEAN
4. SAARC
&y
(A) 4,1,8,2
(B) 1,3,2,4
(C) 2,3,1,4
(D) 1,4,3,2

TGO @oéq;@o:i)o DA Rogen Do
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(A) 2,3,1,5,4
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(C) 2,1,3,4,5
(D) 4,2,1,8,5



80.

81.

82.

Match the following in List — | with those
in List—1I:

List -1 List -1l
Goods / Items Entries/Accounts of
Balance of Payment
a. Merchandise 1. Debit entry of
Exports current account
b. Invisible 2. Debit entry of
imports capital account

c. Capital outflow 3. Credit entry of
current account

d. Dividends on 4. Credit entry of
investments capital account
made in abroad

Codes :

a b c d
(A) 2 3 1
B) 1 2 3 4
(O 4 3 2
(D) 3 1 2 4

The first Indian to suggest a model
for human resource valuation and
accounting is

(A) Das Gupta

(B) Babatosh Banerjee
(C) S. K. Chakraborty
(D) None of these

The sensitivity of a stock’s return to the
changes in the market is measured by
(A) Standard deviation

(B) Beta
(C) Alpha
(D) Value-at-risk

80. <5+ 0B Seds — 12 5638 — Il 355506
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a b c d
A 4 2 3 1
B 1 2 3 4
C 1 4 3 2
D) 3 1 2 4
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83.

84.

85.

86.

87.

A short term lease, which is often
cancellable, is known as

(A) Financial Lease
(B) Net Lease

(C) Operating Lease
(D) Leveraged Lease

Which of the following money market
instruments would typically be used in
international transactions ?

(A) Treasury Bills

(B) Banker's Acceptances
(C) Commercial papers
(D) Negotiable CDs

Euro issues include

(A) Foreign currency convertible bonds
(B) Global depository receipts

(C) American depository receipts

(D) All the above

Which of the following methods are used
for marketing new issues of securities ?

i. Listing of securities
ii. Jobbers and Brokers
iii. Private placement
iv. Privileged subscriptions
Codes :
(A) iandii
(B) ii and iii
(C) iiiand iv
(D) i, ii, iii and iv
Assertion (A) : Blue chip shares are
listed on the stock exchange.

Reasoning (R) : Blue chip shares give
consistent high dividends.

Codes :

(A) Both (A) and (R) are right
(B) Both (A) and (R) are wrong
(C) (A) is right but (R) is wrong
(D) (A) is wrong but (R) is right
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88.

89.

90.

o1.

92.

Match List — | with List — I

List—1 List -1l
a. Market risk i. Marketability of
security
b. Interest risk ii. Price volatility
c. Business risk iii. Bank Rate
d. Liquidity risk iv. Recession
Codes :
a b c d
(A) i iii iv i
(B) i iii v o
(C) i ii i v
(D) iv il i [

The Bond is sold at par, if the rate of
interest is

(A) Equaltoits YTM

(B) More toits YTM

(C) Lesstoits YTM

(D) Zero

To levy income tax on a corporate

assessee, the company’s residential

status is decided on the basis of

(A) Company’s management and control
(domestic or foreign)

(B) Nature of the company

(C) Profits of the company

(D) Ownership of the company

Depreciation which remains unadjusted
can be carried forward for a period of
(A) 4 years

(B) 8 years

(C) 6years

(D) Tillit is fully adjusted

For a corporate assessee, the due date
for filing an Income-tax return is

(A) 30" September of every A.Y.
(B) 30" June of every A.Y.

(C) 30" November of the A.Y.
(D) None of the above
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93.

94.

95.

96.

97.

Which of the following is/are treated as

deemed profits under Section 41 of I.T.

Tax ?

(A) Balancing charge

(B) Profit on sale of assets used for
scientific research

(C) Bad debts allowed earlier but
recovered now

(D) All the above

Assume that the municipal value of a
house property is Rs. 1,05,000 fair rent
is Rs. 1,07,000, the standard rent is
Rs. 1,35,000 and the actual rent is

Rs. 97,000. The gross annual value of
the house property will be

(A) Rs. 1,07,000 (B) Rs. 1,35,000
(C) Rs. 97,000 (D) None of these

An American citizen came to India for the
first time on May 28, 2017 and stayed
upto December 5, 2017. His residential
status will be

(A) Resident

(B) Resident but not ordinarily resident
(C) Non-resident

(D) Indeterminate

All assessees are required to follow
uniform previous for all sources of
income w.e.f. the assessment year

(A) 1989-90 (B) 1999-2000
(C) 2009-2010 (D) 2013-2014

Mr. A has invested Rs. 1,00,000 in
9% tax-free debentures of a company.
Interest accrues on 1st January of every
year. If the rate of deduction of tax at
source is 10%, his taxable income for
the previous year 2017-18 will be

(A) Rs. 9,000 (B) Rs. 10,000
(C) Rs. 11,000 (D) None of these
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98.

99.

100.

Income earned and received outside
India, from business controlled from
outside India is not taxable in India when
an assessee is

i. Resident and ordinarily resident
ii. Resident but not ordinarily resident
iii. Non-resident in India

Codes :
(A) iandii (B) ii and iii
(C) iandiii (D) i, ii and iii
Match the List — A with List — B :
List— A List— B
a. Voluntary return i. Section 139(5)
of income

b. Return of loss ii. Section 139(4)
c. Belated return iii. Section 139(3)
d. Revised return iv. Section 139(1)
Codes :

a b c d

i i v

i v [ i

[ i i v

iv il i i

A
B
C

TN N S~

O
N N N

Assertion (A) : Both tax planning and tax
avoidance are legal and aim at reducing
tax liability.

Reasoning (R) : Tax planning follows the
intent of the Income Tax Act, whereas
the tax avoidance looks at the flaws in
the law to serve the purpose.

Codes :

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are incorrect

(C) (A) is correct and (R) is incorrect
)

(D) (A) is incorrect and (R) is correct
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